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1)E − step :

a) Calculating the noisy estimate of one source :

∀n, r(i)p [n] = w(i)T

p x[n] 9?&F:

b) Denoising based on the a priori information about

the sources :

∀n, r(i)+p [n] = f(r(i)p [n]) 9?&@:

2)M − step :

a) Calculating the new ML estimate of w(i)
p :

w(i)+
p =

N∑
n=1

x[n]r(i)+p [n] 9?&G:

b) Normalizing the mixing vector :

w(i+1)
p =
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p

||w(i)+
p ||
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n∈T (p)
j


� ��� ����

 
���
� �

���� {x̃[n]}
n∈T (p)

j
�� �
��
2��

∀j ∈ {1, 2}, 〈C(p)
x [nj ]〉T (p)

j
≈ 1

n(T
(p)
j )

∑
n∈T (p)

j

(
{x[n]}−〈{x[n]}〉

T
(p)
j

)(
{x[n]}−〈{x[n]}〉

T
(p)
j

)
T

9?&1@:

2��
� n(T
(p)
j ) 
��
������ ��� �	�/�
 
� ������� �� ��� ��� T

(p)
j ��� 〈{x[n]}〉

T
(p)
j

=
1

n(T
(p)
j )

∑
n∈T (p)

j
x[n]& "������ ��� �
�	���� 
� ��� ��;��	� 
� 9?&1F: �� �<	������� �


�
����� ����
����7��� ��� ���
���� 〈C(p)
x [n1]〉T (p)

1
��� 〈C(p)

x [n2]〉T (p)
2
& �
���<	�����4 ���

����
��

 ����

 ��� /� �
	�� /� �
����� � �

/��� 
� �
��� ����
����7���
� /� �
��
	0
����& )
 ���� ���4 ��� 8!*% 
� ��� ���
 
� ���
���� 〈C(p)

x [n1]〉T (p)
1

��� 〈C(p)
x [n2]〉T (p)

2
��

�
���� �� 

��
 �
 ��;���7� 9?&1F:& �

� ��
���	��
��4 ��� ����

 wp ��;���7��� J (p)

9?&1F: �� �
��	���� �� ��� ���������

 ���
������ 2��� ��� ��
���� ��������	� 
� ���
�;

〈C(p)
x [n2]〉−1

T
(p)
2

〈C(p)
x [n1]〉T (p)

1
& �� �������� 
� {r(e)p [n]} �� ���� ����� /� {r̂(e)p [n]} 2��
�

r̂
(e)
p [n] = w

T

px[n] �

 ��� ���� ����; n& ,��� ��� �������� {r̂(e)p [n]} 
� ��� P ′
e ���������

�
��
����� {r(e)p [n]} ���� /��� �
��	���4 ��� ��������� ���
���� !!8 ������ {x̂(e)[n]}
�� �������� /� 
��
���
	����� ��� 
/��
����
� ������� 
��� �

� ��� ��������� ���������
�	/����� �� �
��
2��

x̂(e)[n] = Ĝ
(e)
r̂(e)[n] 9?&1G:

2��
� r̂(e)[n] = [r̂
(e)
1 [n], ..., r̂

(e)
P ′
e
[n]]

T
4 Ĝ

(e)
= X(R̂

(e)
)� ��� 2��
� X ��� R̂

(e)
�
� ���

(M × N) ��� (P ′
e × N) ���
���� �������� �

 N ������� 
� ��� M0�������
��� ������

{x[n]} ��� N ������� 
� ��� P ′
e0�������
��� 
��
���
	���� ������ {r̂(e)[n]}4 
�����������4

2��� ��� ���	����
� ���� N ≥ M & )��
��

�4 {x̂(e)[n]} �
������ ����������� ��� �
��
�0
/	��
� 
� ��� ��������� �������� 
� ��� ����� �����

���&

������� .�� �))/0���� ���	����� 
	� ��
	���
� �
�������� !!��

�� ���� �����
�4 �� �����
��� /��

�4 2� 	�� ��� ���

����
� �;�
����� �

� ��� �
��

0
������� ������ 
� ��� ���

���� �
 ������ �� ���

�
���� ���
����� ����
� �� ��� %  
�
���2

3& )�� �
��� 9?&E: �

 ��� 
/��
����
� �� �
�����
��& )�� >
2���
� 
� ���
�

�
��� %  ���

���� �
 �;�
��� 
�� ��������� �
	
�� �� ��
2� �� 6�	
� ?&@& �� ����
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�
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Choose an initial 

vector        of 
unit norm
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( )
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( )

orth
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p orth

w
w( )orthw w( )ˆ[ ] [ ]

T
e

p pn r nw z
( )( )
1ˆ [ ] T  pe

pr n n
( )p orth
pwp pw w

1
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k
z

0 . .o w

( )new
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"��	
� ?&@� )�� %  �
���2

3 	��� �
 �;�
��� 
�� ��������� �
	
��&

>
2���
�4 {r̂(e)p [n]} ��� ��� ����

 wp 
��
����� ��� p0�� �;�
����� ��������� �
	
�� ���
��� �


���
����� ����
��

4 
�����������&

�� ��
2� �� 6�	
� ?&@4 ��� 6
�� ���� 
� ��� ���

���� �� � 2�������� 
� ��� 
/��
��0
��
�� {x[n]}& )�� 2������� ������ {z[n]} �� ����� /� z[n] = Θ�x[n] 2��
� Θ �� � �<	�
�



� 
� ��� �
��
����� ���
�; 
� ��� �
������� 
/��
����
� ����

 �

���� {x̃[n]− ν̃[n]}&
$� ����� 
� ���� 2�������� �

���	
�4 ��� ���
�; G �� �
����

��� ���
 �� 

��
�
���
���
�; W 
� ��7� (P ′ × P ′)& )�� 6�� �	/0����� �
� ��� ���� ����� 
� ��� %  ����
�
2���� �
� 
������� �� �� ���
����� �

���	
�& "�
��4 /� 	���� �� ������� ���	� 
� ���0
�
��

 ����

 wp 
� 	��� �

� 
� ��7� (P ′ × 1)4 � �
��� �������� 
� ��� p0�� �
	
�� ��
����	����� �� �
��
2��

∀n, r̂(e)p [n] = w
T

pz[n] 9?&1A:

)�� ��;� ����4 ������ ��� ���
����� ����4 �� ��� ���� ����� 
� ��� ���

����& ��
���� �����4 /� 	���� ��� �
�0
/������ ���

����
�4 ��� �	

��� ��������� �
��� �
	
�� ��
�
��6�� 

 ���
����& �� ������ �� �����
� ?&1&?4 ��� ����
�� �

� 
� ���� ����� �� �����
/� r̂(e)+p [n] = f(r̂

(e)
p [n])& �� ��� %  ���

���� 	��� �� ���� ������4 ��� ���
���� �
	
��

{r̂(e)+p [n]} �� �

�	��� �

� ��� �
��� �
	
�� {r̂(e)p [n]} �� �
��
2��

r̂(e)+p [n] =

{
r̂
(e)
p [n] if n ∈ T

(p)
1

0 otherwise
9?&?B:

2��
� T
(p)
1 �� ��� ��� �
�������� ��� ���� ������� �


���
����� �
 ��� p0�� �
	
�� ��

��6��� �� 9?&1C:&



���� ����&���	� ��'()(�� ����� ��
���� EE

�� ��� ���
�4 �
	
�� ��� 6��� �����4 /� 	���� ��� ���
���� �
	
�� {r̂(e)+p [n]}4 � ��2
��������
� 
� ��� ����
��

 ����

 �� ����	����� ��� �

����7�� �� �
��
2��

w+
p =

N∑
n=1

z[n]r̂(e)+p [n] 9?&?1:

w(orth)
p = Π⊥w+

p 9?&??:

w(new)
p =

w
(orth)
p

‖w(orth)
p ‖

9?&?C:

2��
� Π⊥ �� ��6��� /��

Π⊥ = I −W (p−1)(W (p−1)TW (p−1))−1W (p−1)T = I −W (p−1)W (p−1)T 9?&?D:

2��� W (p−1) = [w1, . . . ,wp−1] 9?&?E:

�� �� ����
 ���� ��� ���
�; Π⊥ 
��
������ ��� 

��
�
��� �

����

 
��
 ��� �	/�����


��
�
��� �
 ��� �
���
	��� �;�
����� �
	
���4 �
 /� �	��������� ���� ���
�; /� w+

p 4
��� �5��� 
� �
���
	��� �;�
����� �
	
��� �� 
��
���& $� 	���� ���� ��>���
� ���� �� ���
%  �
���2

34 ��� �
���
����� �
 �
���
	��� �;�
����� �
	
��� �� �
������� T �
���
��� *���
��4 ?BBEU& )���4 ��� �
����� ��������� ����
��

 ����

 wp �� ������ �
 ���
6
�� /�
�3 ��� ���� �

���	
� �
����	�� 	���� �
���
�����& )�� 
	��	�� 
� ��� ���

����
�
� wp ��� r̂

(e)
p [n] = w

T

pz[n]& $� 	���� ��� ���� �

���	
�4 ��� ��������� �
	
��� �
�
�;�
�����& )�� ��������� ���
���� !!8 ������ ��� ���� /� �������� �� �
��
2��

∀k, x̂(e)[n] = Ĝ
(e)
r̂(e)[n] 9?&?F:

2��
� Ĝ
(e)

= ΘŴ
(e)

2��� Ŵ
(e)

= [w1, ...,wP ′
e
]&

������A )����
� ��� #���������

�� 

��
 �
 
�����7� ��� ��
�

����� 
� ��� 8!*% ��� %  ����
��4 2� ��� ��� ���	�

� ��� ��
�����
� Thspike 4 Nue4 Lw4 Nθ4 Lma,1 ��� Lma,2 �<	�� �
 804 174 814 74 9 ��� 194

�����������& )�� ���	� 
� Neff 2�� ��� �
 /� 4 ��� 6 �

 ��� 6
�� �����
�
 ��� ��� 
���

�����
�
�4 
�����������& Thθ 2�� ��� �
 /� 0.4curvx 2��
� curvx �� ��� ���
��� 
� ���
�	
���	
� ����	
� �� ��� �;������ ����
���& �
��� ���� ����� ���	�� 2�
� ���������
�

� � ��2 �
���� 
� ��� ���	����� ���� ��� ���� 2� 	��� ����� �
������ ���	�� �������
2��� ��� ����&

�0
0� ��� �:#'
(� $�� �:#�**  ������ 3�� ����"�"�& �3 "��$�
�$�$

�� �
���
	��� ����4 �� ���� �����
� 2� �
� ����
����� �� �

�
���� 8!*%�%  0/����
�
	
�� ����
���
� ����
�� �
 ���
��� ����� !!8�& )
 ���� ���4 2� �

3 �

 �
�� �
��
��
 ���

����
� 
� ��� �
	
��� 
� ����
��� �
 ��6�� ��� �
��
����� ���
���� �� ���
8!*% ����
� ��� �� ���
����� ���� 
� ��� %  ����
�& ���

������4 ��� �

�
���
����
��4 ������ )"08!*% ��� )"0%  4 	�� ��� ����0�
�<	���� ������	
� 
� �����



EF ����
���

������
��� �
 ���
��� ����� !!8�& )
 �;�
��� ��� ����0�
�<	���� ���

����
� 
� �����
�
	
���4 2� 	�� ��� ��� ���

��� ���� ��� /��� ��
2� �
 /� ��� �
�� �L����� ����
�
�
 ����4 �
 ���
��� ����� !!8 ������� �
���������� /� �	��	��
 �������� T%� ���
�<
�� ��&4 ?BBF4-����7 �� ��&4 ?BBA4 �6������4 ?B1?4S�
�
	� �� ��&4 ?B1EU&

�
�� ����4 �� ���� �����
�4 2� 	�� ��� ����������� �
��� �� �
������� �� �����
�
1&D&1& �� ������
�4 2� ���
�� /� {Tx̃m[n, k]} ��� 
���
� �

���� ��6��� �� ��� ���0
��
 ����0�
�<	���� �
����

� 
� ��� 
���
� �

���� {x̃m[n]}4 2��
� n ��� k �����
�

 ��� ���� ��� �
�<	���� �������4 
�����������& )�� M0�������
��� 
���
� ����


�

���� {Tx̃[n, k]} ���� �
������ ��� �����
 ����0�
�<	���� ������� 
� ��� M ��������&
)��
��

�4 ���

���� �
 9?&E:4 �

 ���� �
	��� (n, k) 
� {1, ..., N} × {1, ..., K}4 2� �����

Tx̃[n, k] =

P∑
p=1

gp Tr̃p[n, k] = GTr̃[n, k] 9?&?@:

2��
� {Tr̃p[n, k]} ��� {Tr̃[n, k]} 
��
����� ��� �����
 ����0�
�<	���� �
����

� 
� ���

���
� �

������ {r̃p[n]} ��� {r̃[n]}4 
�����������& =� ���
 ���
�� ��� �����
 ����0
�
�<	���� �
����

� 
� � 
����7���
� {x[n]} 
� ��� 
���
� ����

 �

���� {x̃[n]} /�
{Tx[n, k]}&

=� ��� �
�����
 ���� ��� ���
�� 
� ��� ��������� �
	
��� �� �
��� �� ��� ����0�
�<	����
�
����& )��� ���
������ �
��� �

� ��� 
/��
����
� ���� /� ���������� ��� ������0
�
�
�����4 ���� �� ��� /�������� 
� ���7	
��4 ��� ���� ����� �������� �� ��
� ��


2 /���4
��� 
� �
2 ������	��& ���

���� �
 ���� �

��
��4 �

 ��� p0�� ����� �
	
�� 2� ���	��
���� ��� ��
���� �

��
� 
� ��� ���
�� �� 
���
��� �� � ����0�
�<	���� �	/��� TF (p) 
�
{1, ..., N} × {1, ..., K}& )�	�4 
	
 ��� �� �
 �
��	�� ��� ��������� �	/����� {x(e)[n]}
	���� ���� � ��
��
 ���

����
� 
� ��� ����� �
	
��� ��

	�� �����6� ����0�
�<	����
���
����& 8���� �� L0�������
��� 
���
� ����

 �

���� {ũ[n]} ��� ��� �����
 ����0
�
�<	���� �
����

� {Tũ[n, k]}4 2� ��6�� ��� (L×L) ����0�
�<	���� �
��
����� ���
����
C(p)

u [n1, k1] ��� C(p)
u [n2, k2] �� �
��
2��

∀(n1, k1) ∈ TF (p), C(p)
u [n1, k1] = E[(Tũ[n1, k1]−E[Tũ[n1, k1]])(Tũ[n1, k1]−E[Tũ[n1, k1]])

T

]

∀(n2, k2) /∈ TF (p), C(p)
u [n2, k2] = E[(Tũ[n2, k2]−E[Tũ[n2, k2]])(Tũ[n2, k2]−E[Tũ[n2, k2]])

T

]

9?&?G:

=� ���
 
��
����� ��� ����0�
�<	���� ���
��� 
� ��� �
��
����� ���
����C(p)
u [n1, k1] ���

C(p)
u [n2, k2] 
� ����
 ����0�
�<	���� �	��

� /� 〈C(p)

u [n1, k1]〉TF (p) ��� 〈C(p)
u [n2, k2]〉TF (p)4


�����������& �� �
������4 ����� ���
��� ����0�
�<	���� �
��
����� ���
���� ��� /� ����0
����� �

� � 
����7���
� {Tu[n, k]} 
� ��� ����

 
���
� �

���� {Tũ[n, k]} �� �
��
2��

〈C(p)
u [n1, k1]〉TF (p) ≈ 1

n(TF (p))

∑
(n1,k1)∈TF (p)

(Tũ[n1, k1]−〈Tũ[n1, k1]〉)(Tũ[n1, k1]−〈Tũ[n1, k1]〉)
T

〈C(p)
u [n2, k2]〉TF (p) ≈ 1

NK−n(TF (p))

∑
(n2,k2)/∈TF (p)

(Tx̃[n2, k2]−〈Tũ[n2, k2]〉)(Tũ[n2, k2]−〈Tũ[n2, k2]〉)
T

9?&?A:
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���� E@
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transform of all sources
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ictal source
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time-frequency mask

Semi-blind
denoising
methods:methods:

TF-GEVD
[ ]nx ( )[ ]p

e nxExtracting initial estimate of the time-frequency signature of the p-th ictal source

Linear time-frequency 
transform of observations

or
TF-DSS

"��	
� ?&G� )�� >
2 ���
� 
� ��� ���
����� �

���	
� �
 �;�
��� ��� p0�� ����� �	/�����
�


���
����� �
 ��� p0�� ����� �
	
�� /� )"08!*% ��� )"0%  ����
��&

2��
� n(TF (p)) 
��
������ ��� �	�/�
 
� ������� �� ��� ��� TF (p)& -�
�4 �

 �������0
���4 2� 
��
����� ���
���� 〈C(p)

u [n1, k1]〉TF (p) ��� 〈C(p)
u [n2, k2]〉TF (p) /� C(p)

u ��� C(p̄)
u 4


�����������& �
���<	�����4 ��� ���
��� ����0�
�<	���� �
��
����� ���
�; 
� ��� ����0
�
�<	���� �������4 Cu4 ��� /� ��6��� �� �
��
2��

Cu =
1

NK
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T

1x[n]&

����
 ����������� ��� 6
�� �
	
��4 2� 
��
�� ��� �
��
�/	��
� �

� ��� 
/��
����
��
/� �

������� ��� 
/��
����
�� 
��
 ��� �	/����� 

��
�
��� �
 ���� ������� /� ĥ1
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2��
� ��� �
�L������ v10v104 u10u3 ��� w10w3 �
� ����� �� �������; %&

)
 ����	���� �� ���

�
���� �
����; ���	� �

 t �� ���� ���
���
�4 2� 	�� ��� ��
����
�7�0
��
� t = ρeiφ ��� ���� ��5�
������� 9?&FE: 2��� 
������ �
 ρ ��� φ ����
�����& �
�� ����
��� 


�� 
� ��� �
��
2��� �<	���
� ������ �
� ��� �����
��
� �
���� 
� Δψ(Qq,p)&{

∂Δψ(ρ,φ)
∂ρ

= 0
∂Δψ(ρ,φ)

∂φ
= 0

9?&FF:



���� ��� ��(&�� ��
��� FA

2���� 
��	��� ���

∂Δψ

∂ρ
=
(
iρ4(eiφb0−e−iφb∗0)+ρ

3(b3+i(ei2φb1+e
−i2φb∗1))

+ρ2(−i3eiφ(b0 − b2) + i3e−iφ(b∗0 − b∗2))

+ρ(b4 − iei2φb1 + ie−i2φb∗1)

− ieiφb2 + ie−iφb∗2
)
/(1 + ρ2)3 = 0 9?&F@:

����

∂Δψ

∂φ
=

(
ρ3(eiφb0 + e−iφb∗0) + ρ2(ei2φb1 + e−i2φb∗1)

+ρ(eiφb2 + e−iφb∗2)
)
/(1 + ρ2)2 = 0 9?&FG:

2��
� ��� �
�L������ b00b4 �
� ����� �� �������; %&
)�� �<	���
� 9?&FG: ��� ���� /� �
���
��� ���
 � ���
�� ���
�� �
���
���� �<	���
�

2��� 
���
�� �
 ρ�
p2ρ

2 + p1ρ+ p0 = 0 9?&FA:

2����

p2 = eiφb0+e
−iφb∗0 = 2Re{eiφb0}

p1 = ei2φb1+e
−i2φb∗1 = 2Re{ei2φb1}

p0 = eiφb2+e
−iφb∗2 = 2Re{eiφb2}

 
4 2� ��� �
��	�� ��� 


�� 
� 9?&FA: �� �
��
2��

ρ =
−p1 ±

√
p21 − 4p2p0
2p2

9?&@B:

��� ����
� ���� ���
 9?&F@:& $� 
�������� ei2φ 2��� x ��� ����������� ��� �<	���
�4 2�
��� 
/���� � ������ 140�� ���
�� �
���
���� PA �� ��
��/�� x 2�
�� �
�L������ A� �
�
����� �� �������; %&

$� 


���� ���� �
���
���� �	��
������4 �
	
���� �
����; ���	�� x̂k �
� �;�
�����&
�
24 2� ��
	�� ��

�� ��� 
����	� �
�	��
� x̂(o) 2���� ������7�� ��� �
�� �	����
�
9?&FE: 2��� 
������ �
 ��� �
��	��� ���	�� x̂k&  ���� ��� �<	���
� 9?&FE: �� � �	����
� 
�
t4 2� ���� 6
�� �
 ����	���� ��� ���	� tk �


���
����� �
 ���� x̂k �� 

��
 �
 ��

�� ���
/��� �
�	��
�& )
 ���� ���4 2� �
 ��� �
��
2��� �
��	����
��& )�� ���	�� φ̂k ���
������
2��� ��� �
	
���� ���	�� x̂k ��� /� �
��	��� �� �
��
2��

φ̂k =
angle{x̂k}

2
9?&@1:

����
2�
�� �

 ���� φ̂k4 �2
 �


���
����� ���	�� ρ̂
(+)
k ��� ρ̂

(−)
k �
� ����	����� /� 	����

9?&@B:�

ρ̂
(+/−)
k =

−Re{b1ei2φ̂k}±
√

(Re{b1ei2φ̂k})
2−4Re{b0eiφ̂k}Re{b2eiφ̂k}

2Re{b0eiφ̂k}
9?&@?:
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���� ?&1�  ��	�����
	� �
����	��
�7���
� 
� R �
����;0���	�� ���
����

�
#���> R ���
���� Y (r)∈ Cd×d&
6��#���> R 	���
 �
����	��
 ���
����X (r) ∈ Cd×d ��� ��� 	����
� ���
�;Q(o) ∈ Cd×d

2���� ������� 9?&EG:&
�� ��#���
�� 4	� q = 2 : d �	
�� 4	� p = 1 : q − 1 �	
�� �
��	�� ��� �
	
���� 


�� x̂k 
� PA&
�� "

 ���� 


� x̂k4 ����	���� φ̂k =

angle(x̂k)
2

&

�� ����	���� /
�� �


���
����� ���	�� ρ̂
(+)
k ��� ρ̂

(−)
k /� 	���� 9?&@?:&

�� �
��	�� t̂
(+/−)
k = ρ̂

(+/−)
k eiφ̂k &

	� ����	���� ��� �
�� �	����
� 9?&FE: �

 ��� �2����0����� ���	�� t̂
(+/−)
k ��� 6��

��
�� ���� ��� /��� �
�	��
� t̂(o) ���� ������7�� ��� ��������0���	�� 6�����&

� "

� ��� �������� t̂(o)4 ����
��� ���
�; Q(o,p,q) 9?&F1: ��� 	����� ���
����

Y (r) /� 	���� 9?&F?:&
��� !
� 4	�
��� !
� 4	�
��� 9
��� ��� ���

���� �
���
���

 
4 �

 ���� x̂k4 �2
 �
	���� (φ̂k, ρ̂
(+)
k ) ��� (φ̂k, ρ̂

(−)
k ) �
� 
/������& )���4 �

 ���� �
	���

9φ̂k 4 ρ̂
(+/−)
k :4 t̂

(+/−)
k �� ����	����� �� �
��
2��

t̂
(+/−)
k = ρ̂

(+/−)
k eiφ̂k 9?&@C:

)
 ������ ��� 
����	� �
�	��
� t̂(o)4 ��� �
�� �	����
� 9?&FE: �� �
��	��� �

 ��� �2����0

����� ���	�� 
� t̂
(+/−)
k ��� ��� ������7�
 
� 9?&FE: ���� ��3�� �� �������� 9�
 ���	
� ����

��� �
�� �	����
� 9?&EA: �� 
��	��� �� ���� ����: �� ��
��� �� �
��
2��

t̂(o) = argmin
t̂
(+/−)
k

{Δψ(Q(p,q))} 9?&@D:

$� 	���� ��� �������� t̂(o)4 Q(o,p,q) �� �
��	��� ��� ��� ���
���� Y (r) �
� 	������ ��
����
�/�� /� �<	���
� ?&F?& )�� �	���
�7�� �

���	
� �
 ���	�����
	��� �
����	��
�7�
�
����;0���	�� ���
���� �� ��
2� �� ���

���� 9?&1:&

�060� �"���� ,- ���� /��"�"��� ��� **�#,-  �����

)�� �� ���
��
����
� 
� � q0�� 

��
 �
����;0���	�� �

�� T 
� ��7� (N1×N2×. . .×Nq)
�� ��6��� /� ��� �
��
2��� ������� �����
 �
�/�����
��

T =
P∑
p=1

u(1)
p ◦ u(2)

p ◦ · · · ◦ u(q)
p 9?&@E:

2��
� �

 ���� ������
 i ∈ {1, ..., q} ��� P �
����;0���	�� ����

� u
(i)
p �
� ��� �
�	��

����

� 
� � 9Ni×P : ���
�; U (i) ������ i0�� �
����� ���
�;& )�� ��� 
� ��� �� �

/���



���� ��� ��(&�� ��
��� @1

�� �
 ����
���� ��� q �
����� ���
���� U (i) 
� T 	� �
 � ����
��� ������� ���
�; ���
� ��
�	����
� 2���� �
� ��� ��������� ������
�������� 
� ��� �� ���
��
����
�& �� ��
�
��2

��� ���� ��� ��
�	����
� ������
������ �� ��� ���� �

 ��� P �
����� ���
����&
�
�� ���
 ���� ��� ������� �	�/�
 P 
� 
��301 ��
�� ���
2��� 	� �
 ���
��
�� T
9?&@E: ��6��� ��� 
��3 
� T &

8���
����4 ��
��� �
���
 �
 ������ 	��
����� ���
���� 
� �	���02�� �

���& ��� �
���0
/�� ���
���7���
�� T (π, L) 
� � q02�� �

�� T ��� /� ��6��� /� 	���� �2
 ��
�����
�4
������ � ��
�	����
� �	����
� π 
� {1, . . . , q} ��� �� ������
 L ∈ {1, . . . , q}& �

�
�
�������4 ��� (k, �)0�� �
��
���� 
� T (π, L) �� ����� /��

T (π, L)k,� = Tn1,n2,...,nq 9?&@F:

2��
��

k = nπ(1) +
L∑
j=2

(nπ(j)−1)N (π(1),π(2),...,π(j−1))

����

� = nπ(L+1) +

q∑
j=L+2

(nπ(j)−1)N (π(L+1),π(L+2),...,π(j−1))

2��� N (a1,...,aK) = Na1Na2 ...NaK & �� ��� �

�
��� ���

����4 2� 	�� �2
 ��5�
��� 	�0
�
����� ���
����4 ������ T (1) = T (π, L1) ��� T (2) = T (π, L2)4 2��
� ��� ��
�	����
�
�	����
� π4 ��� �
������� L1 ��� L2 9L1 < L2: �
� ��6��� �� �	�� � 2�� ���� ���
�
��
2��� ���	����
�� �
���

1& )�� 
��3 P 
� ��� �

�� T �� �
2�
 ���� 

 �<	�� �
 N (π(1),...,π(L1))&

?& )�� ���
��� 
� �� ����� 
�� 

2 
� ��� ���
�; U (π(q):π(L2+1)) �
� �
�07�

&

C& )�� ���
�; U (π(L2):π(L1+1)) �� �	�� �
�	�� 
��3&

D& )�� ���
�; U (π(q):π(L2+1)) �� �	�� �
�	�� 
��3&

E& )�� ���
�; U (π(L1):π(1)) �� �	�� �
�	�� 
��3&

2��
� ��� (N (n1,...,nK)×P ) ���
�;U (n1:nK) �� ����� /� ��� �
��
2��� S���
�0��
 �

�	��

� K ���
�����

U (n1:nK) = U (n1) 
U (n2) 
 . . .
U (nK) 9?&@@:

)���� ���	����
�� ���	
��� ������6�/����� 
� ��� �

�
��� �� ���

���� 2��� /� ���0
�	���� �� �����
� ?&C&C& "

 ��� ��3� 
� ����������4 2� 6
�� �;����� ��� �

�
��� ����
�
�

 � ��
��02�� �
����;0���	�� �

�� T 
� ��7� (N1 ×N2 ×N3) ��6��� /��

T =

P∑
p=1

u(1)
p ◦ u(2)

p ◦ u(3)
p 9?&@G:
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 ����
� �
 �����
0

��
 �

���& =� ���
 ���	�� �� ���
�
��
2��� 
� ���� �����
� ���� π �� ��� �������� ��
�	����
�& �� ��� /� ������ ��
2� ����
��� 	��
����� ���
�; T (1) 
� ��7� (N1 × N2N3) 9L1 �� �<	�� �
 1: ��� /� �;�
����� ��
�
��
2��

T (1) = U (1)
(
U (3) 
U (2)

)T

= U (1) U (3:2)
T

9?&@A:

�
�� ���� ��� U (3:2) ���
�; ��� ���
 /� 2
����� �� �
��
2��

U (3:2) =
[
Φ(1)U (2)T, . . . ,Φ(N3)U (2)T

]T

9?&GB:

2��
� Φ(i) �� � 9P×P : ����
��� ���
�; /	��� �

� ��� i0�� 

2 
� ���
�; U (3)& ,� ���

���
 ����4 	���
 ���	����
�� ��:4 ��: ��� ��: 2� ��� �
��	�� ���  *% �
	������
�� 

��
 P �
 ���
��
�� T (1) �� �
��
2��

T (1) = ZΣV
H

9?&G1:

2��
� Z4 Σ ��� V �
� 
� ��7� (N1×P )4 (P×P ) ��� (N2N3×P )4 
�����������& (���

���	����
�� ��:4 ��: ��� ��: 9�
�� ���� ��
� L2 �� �������
��� �<	�� �
 2:4 /� �
�0
��
��� 9?&@A: ��� 9?&G1:4 2� ��� �
���	�� ���� ���
� �;���� � �
�0����	��
 ���
�; W 
�
��7� (P×P ) �	�� �����

V
H

= W U (3:2)T 9?&G?:

�
2 /� ����
���� 9?&GB: �� 9?&G?:4 2� ��� 
�2
��� V �� �
��
2��

V=
[
Γ(1), . . . ,Γ(N3)

]H

9?&GC:

2��
� ��� N3 ���
���� Γ(i) 
� ��7� (P ×N2) �
� ����� /� Γ(i) = W Φ(i) U (2)T& (���

���	����
�� ��: ��� ��:4 ���
� �� �� ����� 
�� ���
�; Γ(j) ��������� ��� �


�0
���

�� ���
�; ����
�� Γ(j)�& )��
��

�4 2� ��� ��6�� R ���
���� Y (i,j) �� �
��
2��

Y (i,j) = Γ(i)Γ(j)� 9?&GD:

= WΦ(i)U (2)T(U (2)T)�(Φ(j))−1W−1

= WD(i,j)W−1

2��
� N3 − 1 ≤ R ≤ N3(N3 − 1) ��� �

 ���� �
	��� (i, j)4 D(i,j) = Φ(i)(Φ(j))−1 �� �
(P × P ) ����
��� ���
�;& .�� 	� 2
��� W = QR4 ������ ��� X� ���
��
����
� 
�

���
�; W 2��
� QQ
H

= I ��� R �� �� 	���
 �
����	��
 ���
�;& )�	�4 2� ��� 
�2
���
Y (i,j) �� �
��
2��

Y (i,j) = WD(i,j)W−1 9?&GE:

= QRD(i,j)R−1Q−1

= QX(i,j)Q
H

 ���� R �� �� 	���
 �
����	��
 ���
�;4 R−1 ��� X(i,j) = RD(i,j)R−1 �
� 	���
 �
���0
�	��
 ���
���� �

& )�� �������� 
� ��� ����
��� 
� X(i,j) �
� �<	�� �
 ��� ����
���



���� ��� ��(&�� ��
��� @C

�
��
����� 
� D(i,j)& $� �������� ���   % ���

���� �

�
��� �� �����
� ?&C&1 �

���
���� Y (i,j)4 ��� 	���
 �
����	��
�7�� ���
���� X(i,j) ��� �
���<	����� ��� ����
���
���
���� D(i,j) ��� /� �;�
�����& ������4 2� ���� D

(i,j)
p,p = X

(i,j)
p,p �

 ��� �
����� (i, j, p)&

�� 

��
 �
 �������� ��� �
��
����� 
� ���
�; U (3)4 �

 ���� �
�	�� 
� ���� ���
�;4
2� ���� R �<	���
��& �� J �� � ��� ����;��� ��� 

2� 
� ���
�; U (3) 2�
�� �������� �
�
�
�07�

 

 �<	��������� ��� ���
���� Γ(j) 2���� ����� � �


�0���

�� ���
�; ����
��4
2� �����

∀j ∈ J, ∀i ∈ {1, . . . , N3}/{j}, ∀p ∈ {1, . . . , P},
U

(3)
i,p

U
(3)
j,p

= D(i,j)
p,p 9?&GF:

-�����
U

(3)
i,p −D(i,j)

p,p U
(3)
j,p = 0 9?&G@:

)���� �<	���
�� ��� /� 2
����� �� � ���
�; �

��

M (p)u(3)
p = 0R×1 9?&GG:

2��
� u
(3)
p �� ��� p0�� �
�	�� 
� ���
�; U (3)4 ��6��� /� u

(3)
p = [U

(3)
1,p , U

(3)
2,p , . . . , U

(3)
N3,p

]
T
&

)�� ���
�; M (p) 
� ��7� (R × N3) �� ��6��� �� �
��
2�& "

 ���� 

��
�� ���
 (i, j)
2��� j ∈ J 4 i �= j ��� 1 ≤ i, j ≤ N34 2� �
�����
 
�� 

2 �� ���
�; M (p) �	�� ���� ���
�
��
���� �� ��� i0�� �
�	�� �� �<	�� �
 14 ��� �
��
���� �� ��� j0�� �
�	�� �� �<	��
�
 −D(i,j)

p,p ��� ��� 
���
 �
��
����� �
� �	��& �
�� ���� ��� 

��
 
� ��� 

2� �� �
�
���

���� �� ��� �
�	��
�& "

 ��������4 ���	���� ���� ��� �
��
����� 
� ���
�; U (3)

�
� �
�07�

 ������� �
 R = N3(N3 − 1)4 2� �	� ��� 

2� �


���
����� �
 i = 1 ��
��� 6
�� N3 − 1 

2� 
� ���
�; M (p) ��� ��� 

2� �


���
����� �
 i = N3 �� ��� ����
N3 − 1 

2� �� �
��
2��

M (p) =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 −D(1,2)
p,p 0 . . . 0

&&&
&&&

1 0 . . . 0 −D(1,N3)
p,p

&&& . . .
&&&

−D(N3,1)
p,p 0 . . . 0 1
&&&

&&&

0 0 . . . −D(N3,N3−1)
p,p 1

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎫⎪⎬⎪⎭ i=1

&&&⎫⎪⎬⎪⎭ i=N3

9?&GA:
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(3)
p ��� /� ������6�� 	� �
 � ����� ����

 /� �
�0

�	���� ��� 
���� ����	��
 ����
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������ 2��� ��� 7�

 ����	��
 ���	� 
� M (p)& $�

�������� ���� �

���	
� P �����4 ��� P �
�	��� 
� U (3) ��� /� ������6�� 	� �
 � 
����
�	������������ ����
��� ���
�;&

��;� 2� ��
��� U (2:1) �

� ���
�; U (3) /� 	���� ��� (N1N2 ×N3) 	��
����� ���
�;
T (2) 9��� 	� 
����� ���� L2 �� �<	�� �
 ?:& ������4 �� ��� /� ��
2� ���� T (2) �� �<	�� �
�

T (2) = U (2:1) U (3)
T

9?&AB:
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2��
� U (3) 2�� ����	����� �� ��� �
���
	� �����& )��
��

�4 	���
 ���	����
� ��:4
���
�; U (2:1) ��� /� �
��	��� �� �
��
2��

U (2:1) = T (2)(π, L2)
(
U (3)T

)�
9?&A1:

 ���� U (2:1) �� ��6��� /� ��� S���
�0��
 �

�	�� 
� �2
 �
����� ���
���� ���

���� �


9?&@@:4 2� ��� 	�� � �

���	
� /���� 
� 
��301  *%� �
 ����	���� U (1) ��� U (2)& )

���� ���4 �

 ���� p ∈ {1, ..., P}4 2� /	��� ��� 
��301 ���
�; U (2:1,p) 
� ��7� (N1 × N2)
���
������ 2��� ��� p0�� �
�	�� 
� U (2:1) �� �
��
2��

∀(i, j) ∈ {1, . . . , N2} × {1, . . . , N1} U
(2:1,p)
i,j = U

(2:1)
(i+jN2),p

9?&A?:

�	�� ���� ��� (i, j)0�� �
��
����4 U
(2:1,p)
i,j 4 
� U (2:1,p) �� �<	�� �
 U

(2)
i,p U

(1)
j,p & )��� ��� p0��

�
�	�� 
� ��� �
����� ���
���� U (1) ��� U (2) ��� /� �;�
����� /� �
��	���� ��� ����
��� 
���� ����	��
 ����

� ���
������ 2��� �
�07�

 ����	��
 ���	� 
� U (2:1,p)& ������4
2� �����

U (2:1,p) = z σ v
H

= z̃ v
H

9?&AC:
2��
� z̃ ��� v �
� ����

� 
� ��7� (N2 × 1) ��� (N1 × 1)4 
�����������&  
4 2� ���� 	�
�
 � ����� ����

�

u(2)
p = z̃ ��� u(1)

p = v∗ 9?&AD:

$� �
����� ���  *% �

/��� �

 ��� p ∈ {1, . . . , P}4 ��� �2
 �
����� ���
���� U (1) ���
U (2) ��� /� 
/������ 	� �
 � 
���� �	������������ ����
��� ���
�;&

=� �
2 �;����� �� ��� �
��
2��� �
2 �
 ����
���7� ��� �

�
���   %0�� ����
�
�
 ��� ���� 
� �����
0

��
 �

���& )
 ����	���� ��� �
����� ���
���� 
� � q0�� 

��

�
����;0���	�� �

�� T 
� ��7� (N1 × N2 × . . . × Nq)4 2� �
 ��� �
��
2��� �

���	
�&
"�
��4 2� ��6�� ��� 	��
����� ���
�; T (1) 
� ��7� (N (1,...,L1) ×N (L1+1,...,q))&  �����
�� �

��� ���
� 

��
 ����4 2� ��� �;�
��� ��� ���
�; T (1) �� �
��
2��

T (1) = U (L1:1)U (q:L1+1)
T

9?&AE:

2��
� ��� ���
�; U (q:L1+1) ����� /� 9?&@@: ��� ���
 /� 2
����� �� �
��
2��

U (q:L1+1) = U (q:L2+1) 
U (L2:L1+1)

=
[
Φ(1)U (L2:L1+1)T, . . . ,Φ(N∗)U (L2:L1+1)T

]T

9?&AF:

2��� N∗ = N (L2+1,...,q) ��� 2��
� Φ(i) �� � 9P×P : ����
��� ���
�; /	��� �

� ��� i0��


2 
� ���
�; U (q:L2+1)& =� ��� ���
 �
��	�� ���  *% 
� T (1) �
	������ �� 

��
 P 4 ��
����
�/�� /� 9?&G1:4 2��� Z4 Σ ��� V 
� ��7� (N (1,...,L1)×P )4 (P×P ) ��� (N (L1+1,...,q)×P )4

�����������& )���4 2� ��� �
���	�� ���� ���
� �;���� � �
�0����	��
 ���
�; W 
� ��7�
(P×P ) �	�� �����

V
H

= W U (q:L1+1)T 9?&A@:

)�	� /� ����
���� 9?&AF: �� 9?&A@:4 2� ��� 
�2
��� V �� �
��
2��

V=
[
Γ(1), . . . ,Γ(N∗)

]H

9?&AG:
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2��
� ��� N∗ ���
���� Γ(i) 
� ��7� (P×N (L1+1,...,L2)) �
� ����� /� Γ(i)=W Φ(i)U (L2:L1+1)T&
 �����
�� �
 ��� ���
� 

��
 ����4 R ���
���� Y (i,j) ��� /� �
��	��� /� 	���� 9?&GD:
2��
� R �� �
2 � ���	� /��2��� (N∗−1) ��� N∗(N∗−1)& )���4 ��� ���� �

���	
� ��
9?&GE:09?&GA:4 �&�& �������� ���   % ���

���� ��� �
����� ������� 
� �����
 �<	���
��4
��� /� 	��� �
 �������� ��� ���
�; U (q:L2+1)&

����
 ����4 2� ��6�� ��� 	��
����� ���
�; T (2) 
� ��7� (N (1,...,L2) × N (L2+1,...,q))& ��
��� /� ��
2� ���� T (2) �� �<	�� �
�

T (2) = U (L2:1)U (q:L2+1)
T

9?&AA:

2��
� U (q:L2+1) 2�� ����	����� �� ��� �
���
	� �����& )��
��

�4 ���
�; U (L2:1) ��� /�
�
��	��� �� �
��
2��

U (L2:1) = T (2)(π, L2)
(
U (q:L2+1)T

)�
9?&1BB:

�
24 �
�� ���� /
�� ���
���� U (q:L2+1) ��� U (L2:1) �
� ��6��� �� ��� S���
�0��
 �

�0
	�� 
� ����
�� �
����� ���
���� ���

���� �
 9?&@@:&  
4 2� ��
	�� ����� ��� ���� �

0
���	
� �� 9?&A?:09?&AD: �� 

��
 �
 ����	���� ��� �


���
����� �
����� ���
����& .��H�
����
�/� ���� �

���	
� 2��� ��� �

� ����
�� ���
�; U (n1:nK) ����� /� 9?&@@:& ���

�0
��� �
 ��� ��6����
� 
� ��� S���
�0��
 �

�	��4 ��� p0�� �
�	�� 
� ���
�; U (n1:nK) ���
/� 
��
������� /� ��� S

���3�
 �

�	�� u

(n1)
p ⊗ . . .⊗u

(nK)
p 2��
� u

(n)
p ���
��� ��� p0��

�
�	�� ����

 
� ���
�; U (n)& )���4 ���H� /	��� ��� (Nn1 × . . . × NnK
) 
��301 �

��

U (n1:nK ,p) ���
������ 2��� ��� p0�� �
�	�� 
� U (n1:nK) �� �
��
2��

∀(i1, . . . , iK), U (n1:nK ,p)
i1,i2,...,iK

= U
(n1:nK)

i1+
∑K

k=2((ik−1)Nn2 ...Nnk),p
9?&1B1:

�	�� ���� ��� (i1, . . . , iK)0�� ���
� U (n1:nK ,p)
i1,i2,...,iK


� U (n1:nK ,p) �� �<	�� �
 U
(n1)
i1,p

U
(n2)
i2,p

. . . U
(nK)
iK ,p

&

�
���<	�����4 � ������ 
��301 -, *% T%� .����	2�
 �� ��&4 ?BBBU 
� ��� �

�� U (n1:nK ,p)

���
2� 	� �
 �;�
��� ��� p0�� �
�	�� 
� ��� K �
����� ���
���� U (n)& �

� �
�������4
��� 	� ���
�� ��� �
��0� ���
���7���
� 
� U (n1:nK ,p) /� U (n1:nK ,p,�) ���� �

����� ���
�
��0� 6/�
� �
 /� ��� �
�	��� 
� ��� 
��	����� ���
�;4 �	�� �����

∀� ∈ {1, . . . , K}, U (n1:nK ,p,�)
i�,j

= U (n1:nK ,p)
i1,i2,...,iK

9?&1B?:

2����

j = 1 +
K∑

k=1,k �=�
(ik − 1)Jk ��� Jk =

k−1∏
m=1,m�=�

Nnm 9?&1BC:

)�	� ��� p0�� �
�	�� u
(n)
p 
� ��� n0�� �
����� ���
�; U (n) �� ����� /� ��� ���� �
������

����	��
 ����

 
� U (n1:nK ,p,�)4 �&�& ��� ���� ����	��
 ����

 ���
������ 2��� ��� �
�07�


����	��
 ���	� 
�U (n1:nK ,p,�)& )
 �;�
��� ��� �
����� ���
����4 ��� ��

������
��� ������
��
	�� /� �;��	��� �

 ��� N �
��� 
� U (n1:nK ,p)&  
4 /� ���� 2�� 2� ��� �;�
��� ���
q �
����� ���
���� U (i) �

� U (q:L2+1) ��� U (L2:1) ���
����� ��� �
��	����
� 
� Pq
 *%�&

)�� �

�
��� ���

���� 
� �� ���
��
����
�4 �����   %0��4 �� �	���
�7�� ��
���

���� ?&?&



@F ����
���

���

���� ?&?� )��   %0�� ������<	�
�
#���> T ∈ �N1×···×Nq ��� P ∈ N∗&
6��#���> )�� q �
����� ���
���� U (i) 
� T &
�� ��

�� ��� ���

�
���� ��
�	����
� Π ��� ��� �
	��� (L1, L2) 
� ������
�&
�� �
���
	�� ��� 	��
����� ���
���� T (1) ��� T (2)&
�� �
��	�� ���  *% 
� ���
�; T (1) �
	������ �� 

��
 P � T (1) = ZΣV

H

�� 4	� i = 1 : N (L2+1,...,q) �	
��  ���3 ��� i0�� (P ×N (L1+1,...,L2)) ���
�; /�
�3 
� V

H

�� Γ(i)&
�� ����	���� ��� �


�0���

�� ����
�� Γ(i)� 
� ���
�; Γ(i)&
�� !
� 4	�
	� 4	� i = 1 : N (L2+1,...,q) �	

� 4	� j ∈ J/{i} �	

��� ����	���� ���
�; Y (i,j) = Γ(i)Γ(j)�&
��� !
� 4	�
��� !
� 4	�
���  ��	�����
	��� �
����	��
�7� ���
���� Y (i,j) /� 	���� ���

���� ?&1&
��� 4	� p = 1 : P �	
��� $	��� ���
�; M (p) �

� ��� �
����	��
�7�� �

� 
� ���
���� Y (i,j)&
��� ����	���� ��� p0�� �
�	�� 
� ���
�; U (q:L2+1) /� �
��	���� ��� 
���� ����	��


����

 ���
������ 2��� ��� �
2��� ����	��
 ���	� 
� M (p)&
��� !
� 4	�
�	� ����	���� ���
�; U (L2:1) �

� T (2) ��� U (q:L2+1)&
�
� 4	� p = 1 : P �	
��� ������� �
�	�� p 
� ���
�; U (L2:1) ���
 �� L20�� 

��
 
��301 �

�� U (L2:1,p)&
��� �
��	�� ��� 
��301 -, *% 
� ��� �

�� U (L2:1,p) �� 

��
 �
 �������� ��� p0��

�
�	�� 
� ��� L2 6
�� �
����� ���
���� U (i)&
��� ������� �
�	�� p 
� ���
�; U (q:L2+1) ���
 � 9q − L2:0�� 

��
 
��301 �

��

U (q:L2+1,p)&
��� �
��	�� ��� 
��301 -, *% 
� ��� �

�� U (q:L2+1,p) �� 

��
 �
 �
��	�� ��� p0��

�
�	�� 
� ��� (q − L2) 
���
 �
����� ���
���� U (i)&
��� !
� 4	�

�0606 �����"1$�"�"�.

�� ���� �����
� 2� ��
2 ���� ���	����
�� ��:0��: ���	
� ������6�/����� 
� ���   %0
�� ����
� �

�
��� �
���
	���& )
 ���� ���4 2� ��	�� ��� ��5�
��� ����� 
� ���
�

�
��� ���

����& ��;�4 2� ��
2 �
2 ��� ���	����
�� ��:0��: ��� /� ������6��
/� �
�����
��� ��� ����
�� ������6�/����� 
� ���   %0�� ���

���4 2���� ��
	�� ����
��� 	��
 �� �
������ �
 ��

�� ��� π ��
�	����
� ��� ��� �
	��� (L1, L2) 
� ������
�&
������ ���� � �

��
�� �� ������ ����
�� 2��� �� �
��� ���
�2��
�4 �;���� �

 � ��� 2���
.�/���	� ����	
� 0 T%� .����	2�
4 ?BBFU&

"�
��4 �� 

��
 �
 ����	���� ��� �
	������  *% 
� ��� 	��
����� ���
�; T (1)4 ��� ��0
�����
�� 
� T (1) �	�� /� �
����
 ���� 

 �<	�� �
 ��� 
��3 P 4 �&�& P ≤ min{N (π(1),...,π(L1))

, N (π(L1+1),...,π(q))}& (���
 ���	����
� ��:4 2� ���� P ≤ N (π(1),...,π(L1))& �� ������
�4
	���
 ���	����
� ��:4 ���
�; U (π(L2):π(L1+1)) �� �	�� �
�	�� 
��3 ��� �
���<	����� 2�



���� ��� ��(&�� ��
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��� P ≤ N (π(L1+1),...,π(L2))&  �����
��4 	���
 ���	����
� ��:4 ���
�; U (π(q):π(L2+1)) ��
�	�� �
�	�� 
��3 ��� 2� ���� P ≤ N (π(L2+1),...,π(q))& )�	� 2� ��� P ≤ min{N (π(1),...,π(L1)),
N (π(L1+1),...,π(L2)), N (π(L2+1),...,π(q))} 2���� ����� �
 P ≤ min{N (π(1),...,π(L1)), N (π(L1+1),...,π(q))}&

�� ��� ��;� ����4 �� 

��
 �
 ��6�� ���
���� Y (i,j) 2� �
��	�� ��� �


�0���

��
����
�� 
� �� ����� 
�� ���
�; Γ(j)& ���	����
� ��: ������� ���� �� �;���� �� ����� 
��
����; j �	�� ��� ����
��� ���
�; Φ(i) �� ����
��/��&  
4 	���
 ���	����
�� ��: ���
��:4 ����� W �� �
�0����	��
4 �� ����� 
�� ���
�; Γ(j) �� �	�� 

2 
��3 ��� ������ �
�


�0���

�� ���
�; ����
�� ���
��� /� Γ(j)�&
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 2���� ���
�; U (q:L2+1) �� 	��<	� 	� �
 � ����0

��� ���
�;& �� 

��
 �
 �������� ���� 	��<	�����4 �

 ���� p4 ���
�; M (p) ��
	�� /�
	��<	� ��� 
��3 ��6����� 
��� /� 
�� �������� ���� M (p) ��� 
�� ��� 
��� 
�� 7�


����	��
 ���	�& )�� �����6� ��
	��	
� 
� ���
�; M (p)4 2��� 
��� �2
 �
�07�

 ���
��� ��
���� 

2 2��
� 
�� 
� ���� �� �
������ 1 9�� �
������� �� 9?&GA::4 ����
�� ��
2� ����
���� (N (π(L2+1),...,π(q)) − 1) �
�	��� 
� M (p) �
� �����
�� �����������& �

�
��
4 �����
U (q:L2+1) �� � �
�	��
� 
� 9?&GG:4 �� �� ����
 ���� ��� N (π(L2+1),...,π(q)) �
�	��� 
� M (p) �
�
�����
�� ���������& �
���<	�����4 M (p) �� 
��3 ��6����� 
��� /� 
��& ,� ��� 
���

����4 ����� ��� �
�0�
������ ���
��� 
� ���
���� M (p) �
� ��� ����
��� ���
��� 
� ��0
�
���� D(i,j)4 �

 ���� 

��
�� ���
 (i, j)4 ��� ����� ���	�� 
� ���
�; Y (i,j) �� 2��� �� ���
�

�������� 
� ����� ��������	�� 2��� 
������ �
 ��
�� 
� 
���
 (R−1) ���
���� Y (i′,j′)

�	�� /� 	��<	�& )�� �

��
 �
�����
� ����
����� �
���4 /	� �
 ������� ��� �����
4 ���
�
��� ����
����7�
 W 	��� �� 9?&GD: �	�� /� 	��<	�& )
 ���� ���4 2� 	�� ��� �
��
2���
	��<	����� ���

�� T%� .����	2�
 �� ��&4 ?BBDU�

.��	��� � )�� '!*% 
� R ���
���� Y (r) 
� ��7� (P × P ) /� � ���
�; �
����

� W
�� 	��<	� 	� �
 � ��
�	����
� ��� � ������� 
� ��� �
�	��� 
� W �� ��� 
��� �� ��� ���
�
�	��� 
� ��� (R×P ) ���
�; E4 2�
�� (r, p)0�� �
��
���� 
� E �� �<	�� �
 D(r)

p,p4 �
�
��������&

�
�� ���� �� 
	
 ���� ��� �	�/�
 R 
� ���
���� �
 /� �
����	��
�7�� �� � ���	� /��2���
N (π(L2+1),...,π(q)) − 1 ��� N (π(L2+1),...,π(q))(N (π(L2+1),...,π(q)) − 1)& ����
	�� ���� ���

��
�� �;�
����� �� ��� 
��� �
����4 �� ��� ������ /� �;������ �
 ��� �
����; ����& )���
���

�� ������ ���� ��� 	��<	����� �� �	�
������ �� �

 ���� �
	��� (p1, p2) ���
� �� ��

����� 
�� ���
 (i, j) �	�� ���� D
(i,j)
p1,p1 �= D

(i,j)
p2,p24 �&�& �	�� ���� U∗

i,p1/U
∗
j,p1 �= U∗
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���� �
����;��� 
� ��5�
��� ����� 
� ���   %0�� ���

����&
)1� 	
 T (1)

����	����
� 
� Σ 2(N−)2N+N∗ − 2
3
(N−)3

�
��	����
� 
� V 9
��� ��� 6
�� P
�
������ 
���� ����	��
 ����

�:

5N+N∗P 2 − P 3

3

&	�#�����	
 	
 ��� R �������� Y (i,j)

����	����
� 
� ��� ���	�
0����
�� 
� ���
N∗ ���
���� Γ(i)

N∗(8N+P 2 + 11
3
P )

�
��	����
� 
� ��� R ���
���� Y (i,j) RN+P 2

)������
�	�� .���
������<���	
 B
	� pi �
� qiC

����	����
� 
� ��� �
���
���� �
�L0
������

6R(qi − pi − 1) + 10R + 745

�
��	����
� 
� ��� �
	
���� 


�� 14 + 4
3
143

����	����
� 
� ��� �


���
����� ρ̂ ���0
	��

140

����	����
� 
� ��� �
�� �	����
� �

 ���
�
	���� (ρ̂, φ̂)

170R(qi − pi − 1) + 197R+ 168

(����� 
� ��� ���
���� Y (i,j) 8PR+ 16R + 6

&��������	
 	
 U (q:L2+1)

�
��	����
� 
� ��� 
���� ����	��
 ���0
�

 9�


���
����� �
 ��� 7�

 ����	��

���	�:

P (2R(N+)2 + 4(N+)3)

!�������
� ��� �	���
� ��������

����	����
� 
� U (L2:1) PN−N+N∗+8P 2N∗+ 11
3
P 3+P 2+P

-, *% 
� ��� P �

��� U (L2:1,p) P (2N−N+(N1+ ...+NL2)− 2
3
(N3

1 + ...+
N3
L2
) + 5(N1 + ...+NL2)− L2

3
)

-, *% 
� ��� P �

��� U (q:L2+1,p) P (2N∗(NL2+1 + ... + Nq) − 2
3
(N3

L2+1 +

...+N3
q ) + 5(NL2+1 + ...+Nq)− q−L2

3
)
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���� �
����;��� 
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����� ���
����� ����
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���� �
����;���

8!*% (P ′
e = 1) 91M3/3 +M2(N + TS + 1) + 44NsLw +M(14N +MwFwN + 2 +

2Ns)− 2Ns

8!*% (P ′
e �= 1) 91M3P ′

e/3 +M2P ′
e(N + TS + 1) + 44NsLw +M(14N +MFwN +

Lma,2Ts + 2 + 2Ns(1 + P ′
e
2))− 2Ns

%  (P ′
e = 1) B+It1(2MN+M)+N(16N+MwFwN+4+2Ns)+44NsLw−2Ns

%  (P ′
e �= 1) B +M2NP ′

e +
∑P ′

e
p=1 Itp(2MN +M) + 44NsLw − 2Ns +M(15N +

MwFwN + P ′
e(N + 1) + Lma,2Ts + 3 + 2Ns(1 + P ′

e
2))

'%��� P ′N2+B+2N +2P ′+MP ′2+3Nf4(P )+
∑P ′−1

p=2 (2p2(p−1)2(p2−
p+1))+

∑P ′
p=2(p

2N+pP ′+(p−1)P ′2)+
∑P ′

p=2 ItP ′−p+1(T +4p3/3−
7p2+62p/3+195+min((p−2)N +8(4N +8), 4p+8(2p4+p2+7)))

  %0�� P ′N2 + 2M2NtNf − 2M3/3 + 5NtNfP
′2 − P ′3/3 + Nf (8P

′2Nt +
11/3P ′3 + P ′2 + P ) +RNtP

′2 + It((13R+ 8RP ′ + 325/3)(P ′(P ′ −
1)/2) + (20RP ′(P ′ +1)(P ′ − 1)/6))+P ′(7R(Nf − 1)2 +11/3(Nf −
1)3 + (Nf − 1)(R+ 1) + 2(Nf − 1)2) + P ′(2MN2

t − 2N3
f /3 + 6M +

5Nt − 2/3) +MNtNfP
′ + 8P ′2Nf + 11P ′/3

)�/�� ?&D� )�� �	��
���� �
����;��� 
� ��� ����� ���
����� ����
��
�	��
���� �
����;���

)"08!*% 5NM2 + 5NM + 19M3/3 + 91/3M3P ′
e +M2P ′

e(NK + TFs + 1)

)"0%  5NM2 + 5NM + 19M3/3 + B + P ′
e(M

2NK + MNK + M) +∑P ′
e
p=1 Itp(2MNK +M)

'%��� B + 2N + 2P ′ +MP ′2 + 3Nf4(P
′) +

∑P ′−1
p=2 (2p2(p − 1)2(p2 − p +

1)) +
∑P ′

p=2(p
2N + pP ′ + (p− 1)P ′2) +

∑P ′
p=2 ItP ′−p+1(T + 4p3/3−

7p2+62p/3+195+min((p−2)N +8(4N +8), 4p+8(2p4+p2+7)))

  %0�� 2M2NtNf − 2M3/3 + 5NtNfP
′2 − P ′3/3 +Nf (8P

′2Nt + 11/3P ′3 +
P ′2 + P ) + RNtP

′2 + It((13R + 8RP ′ + 325/3)(P ′(P ′ − 1)/2) +
(20RP ′(P ′ + 1)(P ′ − 1)/6)) + P ′(7R(Nf − 1)2 + 11/3(Nf − 1)3 +
(Nf − 1)(R+ 1)+ 2(Nf − 1)2) + P ′(2MN2

t − 2N3
f /3+ 6M + 5Nt−

2/3) +MNtNfP
′ + 8P ′2Nf + 11P ′/3
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R = [r[1], r[2], . . . , r[N ]], R ∈ RP ′×N 9�&?:

X = [x[1],x[2], . . . ,x[N ]], X ∈ RP ′×N 9�&C:

)�� ��3����
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/��
����
� ���
�; X �� ����� /��

L(X; θ)=p(X; θ)=

∫
RP ′×N

p(X,R; θ)dR=

∫
RP ′×N

p(X|R; θ)p(R; θ)dR 9�&D:
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��� ��� �
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�
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��� �
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R ��� p(R; θ) �� ��� � �
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/�/�����

� R& )�� ��;��	� ��3����

� �������� θ̂ 
� θ �� ����� /��

θ̂ = argmax
θ

L(X; θ) 9�&E:
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��
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L(θ) =
∫
RP ′×N

log p(X,R; θ)dR =
N∑
n=1

∫
RP ′

log p(x[n], r[n]; θ)dr[n] 9�&F:
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Q(θ, θ′) =
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RP ′×N

p(X,R; θ′) log p(X,R; θ)dR 9�&G:
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� Q(θ, θ′) ���

Q(θ, θ′) ≥ Q(θ′, θ′) ⇒ L(θ) ≥ L(θ′) 9�&A:
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� ��
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∂θj
(θ, θ′) =

N∑
n=1

∫
RP ′

p(r[n]|x[n]; θ′)
∂

∂θi
log p(x[n]|r[n]; θ)dr[n]

=
N∑
n=1

Eq(r[n])[
∂

∂θj
log p(x[n]|r[n]; θ)] 9�&11:
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log p(x[n]|r[n]; θ)= −1

2
(x[n]−Gr[n])

T

C−1
ν (x[n]−Gr[n])− 1

2
log|2πCν | 9�&1?:
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(θ, θ′) = 0 9�

 ��� θj� 
������ �
 ��� ��;��� ���
�;



1D@

G ��� ��� �
��� �
��
����� Cν: ����� �

 ��� �
��� 	���
 �
�����
���
� � 	��<	�
��
���0�

� �
�	��
� �� �
��
2��

G(i+1) = C
(i)

xrC
(i)−1

rr 9�&1C:

C(i+1)
ν = Cxx −C

(i)

xrC
(i)−1

rr C
(i)T

xr 9�&1D:

2��
� Cxx = 1
N

∑N
n=1 x[n]x[n]

T
4 ��� Cxr ��� Crr �
� ��� ���� ���
��� 
� ��� �
�0

�����
��
� �
��
����� ���
���� �
��	��� �� �;�������
�� 
��
 q(r)�

Cxr =
1

N

N∑
n=1

x[n]Eq(r[n])

[
r[n]

T
]
, Crr =

1

N

N∑
n=1

Eq(r[n])

[
r[n]r[n]

T
]

9�&1E:

$� 	���� 9�&1E:4 ��� !� ���

���� �
 �������� ��� ��;��� ���
�; G = [g1, . . . , gP ′]
��� �2
 ����� ���� �
� �
��	��� ����
��������& )���� �2
 ����� �
� 
��
������� ��
�
��
2��

E − step : ∀n, Compute q(r[n]) = p(r[n]|x[n]; θ(i)) 9�&1F:

M − step : Find G(i+1) =argmax
G

N∑
n=1

Eq(r[n]) [log p(x[n]|r[n]; θ)] = C
(i)

xrC
(i)−1

rr 9�&1@:

�� ��
2� �/
��4 �� ��� !0����4 ��� �
���
�

 ����
�/	��
� q(r[n]) 
� ��� �
	
��� ��
����	����� /���� 
� ��� 3�
2� 
/��
����
�� ��� �	

��� �������� 
� ��� ��;��� ���
�;
9�

� ���	
����� ��� �	

��� �������� 
� θ:& �� ��� �0����4 ��� ��;��� ���
�; �� 6����
�
 ��� ��2 �
	
�� ���������&

 ���� ��� �
	
��� �
� ���	��� �
 /� �����������4 ��� �
�

 p(r[n]) ��� ��� ��3����

�
p(x[n]|r[n]; θ) ��� /� ����

�7�� T �
��� ��� *���
��4 ?BBEU& )��
��

�4 ��� �
	
��� �
�
����������� �� ��� �
���
�

 q(r[n]) ��� �� ��� /� �

��� ���� ��� �
��
����� ���
�;Crr

�� ����
���& �
���<	�����4 �� ��� �0����4 C
−1

rr 
��	��� �
 ������� 
� �������	�� �
	
���&
���

���� �
 ��� ��

������
��� ���

����
�4 ����� �� ��� �0���� 2� ���� �
 ����	����

��� Cxr4 ��� !0���� ��� /� 
��	��� �
 ����	���� �� �;�������
� 
� r[n] 
��
 q(r[n])&
,� ��� 
���
 ����4 ����� q(r[n]) ������� 
� ��� 
/��
����
� 
��� ��

	�� G−1x[n]4 ���

�;�������
� Eq(r[n])[r[n]] ��� /� ����
�
���� �� � �	����
� 
� G−1x[n] = G
T

x[n] ���
���
/� f &  
4 ��� !� ���

���� ��� /� ������6�� �� �
��
2��

E − step : ∀n, Compute Eq(r[n])[r[n]] = f(G(i)Tx[n])

M − step : G(i+1) = C
(i)

xrC
(i)−1

rr 9�&1G:

8���
����4 �� ��� !0����4 ��� �;�������
� ��� /� �
��	��� �;����� �� �
�� �������
�����4 �&�& 2��� ��� �
	
�� ����
�/	��
�� �
� ��;�	
�� 
� 8�	�����& �� 
���
 ����� ���
�;�������
� ��� /� ���

;������ 

 ��� /� �
��	��� /� ��� �
���0��
�
 ��������
�&

�� �0����4 �� �����
��� /��

�4 C
−1

rr 
��	��� �
 ������� 
� �������	�� �
	
���&

(���� ���

���� 9�&1G:4 ��� ���

���� �

 �;�
������ ��� �
	
��� 
��0/�0
�� 2��� /�

�� �
��
2�& �� ���� ���

����4 r
(i)
p [n] ��� w

(i)
p 
��
����� ��� p0�� �
	
�� ��� ��� �


�0

��
����� ��;��� ����

 �� ��� i0�� ���
���
�4 
�����������&  ���� G−1 = G
T

4 ��� ���
�;



1DG 
���	��� 
� (��� �	- 
�� (�� �����!��" ���� 
�� �0 ��-���
��

�
�������� ��� ��������� ��;��� ����

�4 W = [w1, ...,wP ′] = G4 �� ��� ���������
��;��� ���
�;&

Initialize the mixing vector w(0)
p

Loop

1) E − step :

Computing the expectation of r(i)p [n] over q(r) :

∀k, r(i)+p [n] = Eq(rp[n])[rp[n]] = f(w(i)T

p x[n]) 9�&1A:

2)M − step :

a) Calculating the new ML estimate of w(i)
p :

w(i)+
p =

N∑
n=1

x[n]r(i)+p [n] 9�&?B:

b) Normalizing the mixing vector : w(i+1)
p =

w
(i)+
p

||w(i)+
p ||

9�&?1:

Until convergence

"

 �;�������� ��� 
�����
����� 
� ��� �/
��0�����
��� ���

���� 2��� 9�&1G:4 2� ���
��� ���� ��� ����� 91: ��� 9?0�: ��� /� �
�/���� �
 ��� �
��
2��� �<	���
��

w(i)+
p =

N∑
n=1

x[n]r(i)+p [n] =

N∑
n=1

x[n]Eq(r[n])[r
(i)
p [n]] = N(

1

N

N∑
n=1

x[n]Eq(r[n])[r
(i)
p [n]])

9�&??:

2��
� 1
N

∑N
n=1 x[n]Eq(r[n])[r

(i)
p [n]] 
��
������ 
�� �
�	�� 
� ��� �
��
����� ���
�; C

(i)

xr&
�� ������
�4 ��� �

����7���
� �� ���� 9?0/: �;�
����� ��� ����
��
� 
� ��� �
��
�����

���
�; C
(i)

rr �� �0����&

"������4 ����� ��� �
��� �������� 
� ��� p0�� �
	
�� �� ��� i0�� ���
���
� ��� /�

�
��	��� /� r
(i)
p [n] = w

(i)T

p x[n] 2���� �� ��� �
�� 
� ��3����

�4 ��� !0���� ��� /�

�����
�
���� �� �2
 ����� ��� ��� %  ���

���� �� 
/������ �� �
��
2��

1)E − step :

a) Calculating the noisy estimate of one source : ∀k, r(i)p [n] = w(i)T

p x[n] 9�&?C:

b) Denoising based on the a priori information : ∀k, r(i)+p [n] = f(r(i)p [n]) 9�&?D:

2)M − step :

a) Calculating the new ML estimate of w(i)
p :

w(i)+
p =

N∑
n=1

x[n]r(i)+p [n] 9�&?E:

b) Normalizing the mixing vector : w(i+1)
p =

w
(i)+
p

||w(i)+
p ||

9�&?F:

Until convergence



�������+ 0

1�� "�.����2����� ���!� ���!

��������� ���������

�� ���� ������
4 ��� 2������0/���� ���3� ���3 �������
� ���

���� /���� 
� ��� ����
�
�

�
��� �� T ������� �� ��&4 1AAE4  ������� �� ��&4 1AA@U �� ����� �� ������& ���

����
�
 ��� ��6����
� 
� ��� �
����	
	� =������ )
����

� 9�=):4 ��� �
�L������ 
� ���
2������ �
����

� 
� ��� 
/��
��� ������ �

� m0�� �������4 ���
��� /� {xm[n]}4 2���
��� �
���
 2������ ψ(t) �
� ��6��� �� �
��
2��

D
(m)
a,b = 1

fs

∑N
n=1 xm[n]ψ

∗
a,b[n] 9$&1:

ψa,b(t) ∈ L2(R), ψa,b[n] =
1√
|a|ψ(

n−b
a
), a �= 0, b ∈ R 9$&?:

�� ���� ���

����4 �
����; �

��� 2������ �� 	��� �� �
��
2��

ψ(t) = C(1 + cos 2πf0t)e
2iπ�f0t, |t| ≤ 1

2f0
, � /∈ {−1, 0, 1} 9$&C:

2��
� � ���� 	� ��� �	�/�
 
� 
��������
�� 
� ��� �
����; ��
�4 f0 �� ��� �

����7��
�
�<	���� ��� C �� � �

����7���
� �
�L����� 9‖ψ‖ = 1: T ������� �� ��&4 1AAEU&

�� ��� 6
�� �����4 S14 /� 	���� ��� 2������ �
�L������ D
(m)
a,b �� ��� m0�� �������4 2�

����	���� ��� ����	
� T
(m)
n �

 ���� ���� ������ n ��� �
���
� �� 2��� ��� ������
�

��
���
�� λ
(m)
1 �� �
��
2��

T (m)
n =

I∑
i=1

αi|D(m)
ai,n

|2 > λ
(m)
1 9$&D:

2��
� ��
�����
� I ��� ai� �
� ��
��� �	�� ���� ��� �
�L������ D
(m)
ai,n ���

;�������

�
��
 ��� /���2���� 
� ��� ���3��& �
���<	�����4 �� ��� 
	��	� 
� ��� ����� S14 ���
�
������� ������� �
� �������� 2��� �
���
�� �
 ��� /��3�

	�� �������� 2���
	� ���
���������
� /��2��� ����
����� ���3�� ��� �	��	��
 �������� T ������� �� ��&4 1AAEU& ,�
��� 
���
 ����4 ��� �;��
������ ��
2 ���� �

 � �	��	��
 �
������4 �
���
�� 2��� �
���3�4 ��� �<	�
�� �
�	�	� ���
����� �

 ���� 
��
�	��
� ������ T ������� �� ��&4 1AAEU&

)��� 
���
3 ����� ��� ���� �
 /	��� � ������
� ��
�����
 G
(m)
n 2���� �� ����	����� �� ���

���� �
����� �����
 
� ��� �/������ 1
ai
H� 2������� /� |D(m)

ai,n|2 
� ��� �������
� ����
���

1DA



1EB 
���	��� 1� ��� !� ���
&����� ���"� ���" ��
��
��	 ��-���
��

�

	�� ���� ������ �
���& )��
��

�4 �� ��� ����� S24 ��� ����	
� G
(m)
n �� ����	�����

�� ��� m0�� ������� �� �
��
2� T ������� �� ��&4 1AAEU�

G(m)
n =

∑n+w
j=n−w g

(m)
j

2w + 1
where g

(m)
j =

∑I
i=1(

1
ai
)|D(m)

ai,j
|2∑I

i=1 |D
(m)
ai,j

|2
9$&E:

�
 ����
��� ��� ����
����� ���3�� �

� �	��	��
 ��������& !;��
���������4 ���� <	������
��3�� �������� ���	�� �� ��� �
������ 
� �� �
������ 

 � ���3�& $� �
���
��� G

(m)
n 2��� �

��
���
�� λ
(m)
2 4 ��� ����� S2 ����
���� ��� 	���	� ������� �

� �
������� T ������� �� ��&4

1AAEU& �� T ������� �� ��&4 1AAEU4 � �
������� ����
� �
 ��

�� ��� �������� ��
���
���

λ
(m)
1 ��� λ

(m)
2 2�� �

�
���&



�������+ #

3����� �� ���4������ �� ��� 	�
#�

���������

d40 = Cp,p,p,p,x, d31 = 4CP ′,p,p,p,x, d22 = 6CP ′,P ′,p,p,x

d13 = 4CP ′,P ′,P ′,p,x, d04 = CP ′,P ′,P ′,P ′,x

d30 = 4

P ′−1∑
i1 = 1
i1 �= p

Cp,p,p,i1,xg
(1−)

i1
, d21 = 12

P ′−1∑
i1 = 1
i1 �= p

CP ′,p,p,i1,xg
(1−)

i1

d12 = 12
P ′−1∑
i1 = 1
i1 �= p

CP ′,P ′,p,i1,xg
(1−)

i1
, d03 = 4

P ′−1∑
i1 = 1
i1 �= p

CP ′,P ′,P ′,i1,xg
(1−)

i1

d20 = 6

P ′−1∑
i1 = 1
i1 �= p

(
Cp,p,i1,i1,x(g

(1−)

i1
)2 + 2

i1−1∑
i2 = 1
i2 �= p

Cp,p,i1,i2,xg
(1−)

i1
g(1−)

i2

)

d11 = 12
P ′−1∑
i1 = 1
i1 �= p

(
CP ′,P ′,p,i1,x(g

(1−)

i1
)2 + 2

i1−1∑
i2 = 1
i2 �= p

CP ′,p,i1,i2,xg
(1−)

i1
g(1−)

i2

)

d02 = 6
P ′−1∑
i1 = 1
i1 �= p

(
CP ′,P ′,i1,i1,x(g

(1−)

i1
)2 + 2

i1−1∑
i2 = 1
i2 �= p

CP ′,P ′,i1,i2,xg
(1−)

i1
g(1−)

i2

)

d10 = 4

P ′−1∑
i1 = 1
i1 �= p

(
CP ′,i1,i1,i1,x(g

(1−)

i1
)3 + 3

P ′−1∑
i2 = 1
i2 �= p
i2 �= i1

Ck,i1,i1,i2,x(g
(1−)

i1
)2g(1−)

i2

+ 6

i1−1∑
i2 = 1
i2 �= p

i2−1∑
i3 = 1
i3 �= p

Cp,i1,i2,i3,xg
(1−)

i1
g(1−)

i2
g(1−)

i3

)

1E1



1E? 
���	��� �� '����� �� ���2���	
� �	 
�� *(+�
 ��-���
��

d01 = 4
P ′−1∑
i1 = 1
i1 �= p

(
CP ′,i1,i1,i1,x(g

(1−)

i1
)3 + 3

P ′−1∑
i2 = 1
i2 �= p
i2 �= i1

CP ′,i1,i1,i2,x(g
(1−)

i1
)2g(1−)

i2

+ 6

i1−1∑
i2 = 1
i2 �= k

i2−1∑
i3 = 1
i3 �= p

CP ′,i1,i2,i3,xg
(1−)

i1
g(1−)

i2
g(1−)

i3

)

d00 =
P ′−1∑
i1 = 1
i1 �= p

P ′−1∑
i2 = 1
i2 �= p

P ′−1∑
i3 = 1
i3 �= p

P ′−1∑
i4 = 1
i4 �= p

Ci1,i2,i3,i4,xg
(1−)

i1
g(1−)

i2
g(1−)

i3
g(1−)

i4
9�&1:

2��
� Ci,j,k,�,x ���
��� ��� (i, j, k, �)0�� ���
��� ", �	�	���� 
� ��� �

���� {x̃[n]}&

e0 = d11(g
(1−)

P ′ )2 − d11(g
(1−)

p )2 + d13(g
(1−)

P ′ )4 − d31(g
(1−)

p )4 + (2d22 − 4d04)g
(1−)

p (g(1−)

P ′ )3+

(3d31 − 3d13)(g
(1−)

p )2(g(1−)

P ′ )2 + (2d20 − 2d02)g
(1−)

p g(1−)

P ′ + (4d40 − 2d22)(g
(1−)

p )3g(1−)

P ′

e1 = (2d02 − 2d20)(g
(1−)

p )2 + (2d20 − 2d02)(g
(1−)

P ′ )2 + (2d22 − 4d04)(g
(1−)

P ′ )4+

(2d22 − 4d40)(g
(1−)

p )4 + (6d31 − 10d13)g
(1−)

p (g(1−)

P ′ )3 + (6d13 − 10d31)(g
(1−)

p )3g(1−)

P ′

+ (12d04 − 12d22 + 12d40)(g
(1−)

p )2(g(1−)

P ′ )2 − 4d11g
(1−)

p g(1−)

P ′

e2 = (3d31 − 3d13)(g
(1−)

p )4 + (3d31 − 3d13)(g
(1−)

P ′ )4 + (12d04 − 12d22 + 12d40)g
(1−)

p (g(1−)

P ′ )3

+ (12d22 − 12d04 − 12d40)(g
(1−)

p )3g(1−)

P ′ + (18d13 − 18d31)(g
(1−)

p )2(g(1−)

P ′ )2

e3 = (2d02 − 2d20)(g
(1−)

p )2 + (4d04 − 2d22)(g
(1−)

p )4 + (2d20 − 2d02)(g
(1−)

P ′ )2+

(4d40 − 2d22)(g
(1−)

P ′ )4 + (6d13 − 10d31)g
(1−)

p (g(1−)

P ′ )3 + (6d31 − 10d13)(g
(1−)

p )3g(1−)

P ′ +

(12d22 − 12d04 − 12d40)(g
(1−)

p )2(g(1−)

P ′ )2 − 4d11g
(1−)

p g(1−)

P ′

e4 = d11(g
(1−)

p )2 + d13(g
(1−)

p )4 − d11(g
(1−)

P ′ )2 − d31(g
(1−)

P ′ )4 + (4d04 − 2d22)(g
(1−)

p )3g(1−)

P ′ +

(2d22 − 4d40)g
(1−)

p (g(1−)

P ′ )3 + (3d31 − 3d13)(g
(1−)

p )2(g(1−)

P ′ )2 + (2d02 − 2d20)g
(1−)

p g(1−)

P ′

f0 = d10g
(1−)

P ′ − d01g
(1−)

p + d12(g
(1−)

P ′ )3 − d21(g
(1−)

p )3 + (2d21 − 3d03)g
(1−)

p (g(1−)

P ′ )2+

(3d30 − 2d12)(g
(1−)

p )2g(1−)

P ′

f1 = (2d12 − 3d30)(g
(1−)

p )3 + (2d21 − 3d03)(g
(1−)

P ′ )3 + (6d03 − 7d21)(g
(1−)

p )2g(1−)

P ′ +

(6d30 − 7d12)g
(1−)

p (g(1−)

P ′ )2 − d10g
(1−)

p − d01g
(1−)

P ′

f2 = d10g
(1−)

P ′ − d01g
(1−)

p + (2d21 − 3d03)(g
(1−)

p )3 + (3d30 − 2d12)(g
(1−)

P ′ )3+

(6d03 − 7d21)g
(1−)

p (g(1−)

P ′ )2 + (7d12 − 6d30)(g
(1−)

p )2g(1−)

P ′

f3 = (2d12 − 3d30)g
(1−)

p (g(1−)

P ′ )2 − d10g
(1−)

p − d12(g
(1−)

p )3 + (2d21 − 3d03)(g
(1−)

p )2g(1−)

P ′ −
d21(g

(1−)

P ′ )3 − d01g
(1−)

P ′
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3����� �� ���4������ �� ��� ���2#�

���������

)
 ����	���� ��� ���	�� 
� �
�L������ �� ���   %0�� ���

����4 6
�� 2� ��6�� ��� ���	��
v1 �
 v104 u1 �
 u3 ��� w1 �
 w3 �� � �	����
�� 
� �������� 
� ���
���� Y (r)4 1 ≤ r ≤ R
�� �
��
2��

v1 =

R∑
r=1

|Y (r)
p,p |

2
, v2 =

R∑
r=1

Y (r)
p,p Y

(r)
p,q

∗
, v3 =

R∑
r=1

Y (r)
p,p Y

(r)
q,p

∗
, v4 =

R∑
r=1

Y (r)
p,p Y

(r)
q,q

∗

v5 =
R∑
r=1

Y (r)
p,q Y

(r)
q,q

∗
, v6 =

R∑
r=1

|Y (r)
p,q |

2
, v7 =

R∑
r=1

Y (r)
p,q Y

(r)
q,p

∗
, v8 =

R∑
r=1

|Y (r)
q,p |

2

v9 =
R∑
r=1

Y (r)
q,p Y

(r)
q,q

∗
, v10 =

R∑
r=1

|Y (r)
q,q |

2

u1 =
R∑
r=1

q−1∑
k=p+1

|Y (r)
kp |

2
, u2 =

R∑
r=1

q−1∑
k=p+1

Y
(r)
kp Y

(r)
kq

∗
, u3 =

R∑
r=1

q−1∑
k=p+1

|Y (r)
kq |

2

w1 =
R∑
r=1

q−1∑
k=p+1

|Y (r)
qk |

2
w2 =

R∑
r=1

q−1∑
k=p+1

Y
(r)
qk Y

(r)
pk

∗
, w3 =

R∑
r=1

q−1∑
k=p+1

|Y (r)
pk |

2
9%&1:

)��� 2� ��6�� b0\b44 c0\c44 t0\t7 ��� s0\s5 �� �
��
2��

b0 = i(v∗5 − v2 − u2 + w2) 9%&?:

b1 = −i2v∗7
b2 = i(v∗3 − v9 − u2 + w2)

b3 = −2v1 + 4v6 + 4Re(v4)− 2v10 + 2u3 − 2u1 + 2w3 − 2w1

b4 = 2v1 − 4Re(v4)− 4v8 + 2v10 + 2u3 − 2u1 + 2w3 − 2w1

c0 = b21, c1 = −4b∗2b
∗
0 9%&C:

c2 = 2|b1|2 − 8Re(b2.b
∗
0), c3 = c∗1, c4 = c∗0

1EC



1ED 
���	��� (� '����� �� ���2���	
� �	 
�� ��(&�� ��-���
��

t0 = 2ib∗2b
∗
1
2b∗0

2 − 2ib0b
∗
1
4 − 2ib∗1

2b∗0
3 + b3b

∗
1
3b∗0

t1 = −4ib∗2
2b∗0

3 + 4ib∗2b
∗
0
4 − 4ib2b

∗
1
2b∗0

2 + b0b3b
∗
1
3 + 2ib1b

∗
1
3b∗0 + b4b

∗
1b

∗
0
3 + 12ib0b

∗
2b

∗
1
2b∗0

− 3b3b
∗
2b

∗
1b

∗
0
2

t2 = 8ib2b
∗
0
4 + 10ib20b

∗
2b

∗
1
2 − 16ib0b

∗
2
2b∗0

2 + 6ib20b
∗
1
2b∗0 − 6ib1b0b

∗
1
3 + 4ib2b

∗
2b

∗
0
3 + 4ib0b

∗
2b

∗
0
3

− 6ib1b
∗
1b

∗
0
3 − 2ib1b

∗
2b

∗
1b

∗
0
2 − 3b2b3b

∗
1b

∗
0
2 + 3b0b4b

∗
1b

∗
0
2 + 3b1b3b

∗
1
2b∗0 − 6b0b3b

∗
2b

∗
1b

∗
0

t3 = 8ib22b
∗
0
3 + 4ib30b

∗
1
2 − 12ib20b

∗
2b

∗
0
2 − 20ib20b

∗
2
2b∗0 + 6ib21b

∗
1
2b∗0 + 20ib2b0b

∗
0
3 + b1b4b

∗
0
3

+ 3b1b0b3b
∗
1
2 + 4ib2b0b

∗
2b

∗
0
2 − 14ib2b1b

∗
1b

∗
0
2 − 6ib1b0b

∗
1b

∗
0
2 − 3b1b3b

∗
2b

∗
0
2 + 3b20b4b

∗
1b

∗
0

+ 4ib2b
2
0b

∗
1
2 − 3b20b3b

∗
2b

∗
1 − 6b2b0b3b

∗
1b

∗
0 + 12ib1b0b

∗
2b

∗
1b

∗
0

t4 = t∗3, t5 = t∗2, t6 = t∗1, t7 = t∗0 9%&D:

s0 = −2ib0b
∗
1
3 − 2ib∗1b

∗
0
3 + b3b

∗
1
2b∗0 + 2ib∗2b

∗
1b

∗
0
2

s1 = b4b
∗
0
3 + b0b3b

∗
1
2 − 4ib2b

∗
1b

∗
0
2 + 2ib1b

∗
1
2b∗0 − b3b

∗
2b

∗
0
2 + 8ib0b

∗
2b

∗
1b

∗
0

s2 = −4ib1b
∗
0
3 − 4ib1b0b

∗
1
2 − b2b3b

∗
0
2 + 3b0b4b

∗
0
2 + 6ib20b

∗
2b

∗
1 + 6ib20b

∗
1b

∗
0 − 4ib2b0b

∗
1b

∗
0

− 2b0b3b
∗
2b

∗
0 + 2b1b3b

∗
1b

∗
0

s3 = s∗2, s4 = s∗1, s5 = s∗0 9%&E:

"������4 2� ��� ����	���� ��� �
�L������ A�, (0 ≤ � ≤ 14) ���

���� �
 ��� �
���6���
��
�����
��

A� =

min (7,�)∑
k=max (0,�−7)

tkt�−k −
min (5,�)∑

i=max (0,�−9)

min (5,�−i)∑
j=max (0,�−9,�−i−4)

sisjc�−i−j
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